
 
 

Ashleigh Scarf 

 

This is a very easy scarf pattern. Although the lacy stitch pattern looks a little 

complicated, it uses only chains, and single and double crochet stitches. Once you 

establish the pattern, it is only a simple one row repeat, which is easy to memorize. It is 

simple to make this design wider or narrower, and I think it would make a pretty shawl 

also. 

 

 

 

Notes: 

 

I used WW weight yarn and a K hook. The stitch pattern is quite dense in places, so it 

drapes better if you use a hook that seems a little large for the yarn. I crochet loosely. 

 

This pattern uses a stitch multiple of 4 plus 1. Then you add 3 more to your beginning 

chain for the turning chain. (which in this case means that your beginning chain has to be 

a multiple of 4.) This means that you could make a narrower scarf by subtracting 4 

stitches or make a wider scarf or a shawl, by adding stitches in multiples of 4. 

 

My scarf turned out to be 7 inches wide. If I made it again, I might make it a little 

narrower, but this scarf is going to a "warm the homeless project" that was organized by 

one of my co-workers so the width will be welcome for warmth. 

 

Stitches used: 

ch: chain 

dc: double crochet 

sc: single crochet 



 

Special stitches: 

cluster: 1 dc and 1 sc both in same chain or stitch 

v stitch: 1 dc, ch1, 1 dc all done in the same chain or stitch 

 

V stitch in v stitch means that you make a v stitch in the chain 1 space of the v stitch in 

the previous row. 

 

The chain 3 that starts each row is there to give the scalloped effect along the edge of the 

scarf and is not used as a working stitch. Just ignore it when you get to the end of the 

row. The last cluster is worked into the last actual stitch of the row, not the turning chain. 

 

The Pattern: 

 

Chain 20. Remember to use a hook that is a couple of sizes larger than the yarn calls for, 

so that your scarf will drape nicely. 

 

Row 1: Make cluster into the 4th ch from the hook), **skip a ch, v stitch in the next ch, 

skip a chain, cluster into the next ch**, repeat from ** to **. You should end with a 

cluster in the last chain. Ch 3, turn 

 

Row 2: Skip the first sc, make a cluster in the next st, (which is the dc of the cluster 

below), 

**v stitch into the v stitch below, cluster into the DC of the cluster below**, repeat from 

** to **, ending with a cluster in the last DC of the last cluster. Do not stitch into the ch 3 

turning chain. 

ch 3, turn. 

 

Repeat row 2 until your scarf is as long as you want it to be. 

 

The pattern consists of clusters worked in the DC of the clusters in the row beneath 

alternating with v stitches worked in the chain 1 space of the v stitch in the previous row. 

 

If you don't want the scalloped edge, using a ch 2 as a turning chain will make the edge 

straighter. If you choose this option, you would need to subtract one chain from the 

beginning chain. 

 
Pattern is untested, except by myself. Please let me know if something is unclear, or you find a mistake. 

You may sell one or two items made from this pattern, but you may not sell the pattern or publish it anywhere 

else. Please link to the pattern if you post a picture elsewhere. 


